Homework 7 Solutions C Kater Cruig, 2024 By L'Hopital's rule,  $\forall a > 0, y > 0$ D'ind log(1/+(y/n)~) = lin  $\frac{\alpha(y/n)}{n - n^{-2}} (1+(y/n)^{\alpha}) = \begin{cases} +\infty \\ -n^{-2}(1+(y/n)^{\alpha}) \end{cases}$ First, suppose  $0 < \alpha < 1$ . Ocall 2=] d>1 Since fis nonnegative, by Faton's Lemma, himing Snlog ( H (f/n)x) du  $\geq S \lim_{n \to \infty} n \log(1 + (f h)^2) d\mu$ = +  $\infty$ , since Stdu=c>0 implies flx)>0 for u-a.e.x. Next, support a=1. the Republic Courses HARA AND AND By the given inequality and monotonicity of  $0 \leq n \log(1 + (f/n)^{\alpha}) \leq n \alpha(f/n) = \alpha f$ Thus, Marina by the Dominated Convergence Thm lim Snlog(1+(F/n)2)dn=Jinsanlog(1+E/m2)dy = $\int \int f d\mu \quad \text{if } \alpha = 1$   $\int O \quad \text{if } \alpha > 1$ .

For any measurable spaces (X, \mathcal{M}, \mu), (Y,  $\mathcal{N}, \mathbb{N}, \mathbb{N}, \mathbb{N}, \mathbb{N}, \mathbb{N}, \mathbb{N}, \mathbb{N}$ \otimes \mathcal{N} measurable, then for any x, the function g(y) = f(x,y) is measurable, since for any Borel set B,  $g^{-1}(B) = \{ y : g(y) \in B \} = \{ y : f(x,y) \in B \}$ = (\{ (x,y) :  $f(x,y) \setminus B \setminus \}$  )\_x and we showed in class that the x section of any measurable set is measurable. b)  $SS_1 dAdv = S_2(Dr) dV(y) = 0$ Since Since 
$$\begin{split} & \sum_{\lambda(DY)=S\lambda(\tilde{z}_{4}\tilde{z}) \text{ if } y\in[C_{1}\tilde{J}] = 0. \\ & \lambda(Q) \qquad y\in[C_{1}\tilde{J}] \end{split}$$
 $SS1Ddvdz = Sv(D_x)dz_{i} = S1_{50,D}(x)dz_{(x)}$ C visnot o - finite since TRis uncountable, hence can't be written as a countable union of finite sets

6 Assume A is pt - meadurable.

Fix  $B \subseteq A$ ,  $C \subseteq A^{c}$ . Then  $\mu^{*}(B \cup C) = \mu^{*}(B \cup C) \cap A) + \mu^{*}(B \cup C) \cap A^{c}$   $= \mu^{*}(B) + \mu^{*}(C)$ .

Assume the condition in the problem holds. Fix EEX  $\mu^{*}(E) = \mu^{*}((E \cap A) \cup (E \cap A^{c}))$ B C  $=\mu^{*}(E \cap A) + \mu^{*}(E \cap A^{c}).$ 

Thus A is preas.

6) By uniqueness theorem from lecture, it suffices to show 2HS and RHS coincide on the algebra of disjoint mins of rectangles and the measure on the LHS is strongly 5-phite. Since each  $\mu_i$  is  $\sigma$ -finite  $\exists \xi E_i \xi_i \xi_i$ s.t.  $\mu_i(E_i) < t \approx \forall i, j \text{ and } \bigcup E_i = \chi^i$ .  $\forall L \cup G \quad i \neq \forall E_i \text{ are increasing, so, for all j,}$   $(\mu \otimes \mu_2) \otimes \mu_3(E_j \times E_j^2 \times E_j^3) = [\mu_1 \otimes \mu_2)(E_i \times E_i^2) \mu_3(E_j^2)$   $= \mu_1(E_i) \mu_2(E_j) \mu_3(E_j^3) < t \propto$ and  $\bigcup E_j \times E_j^2 \times E_j^3 = \chi' \times \chi^2 \times \chi^3$ . This should the LHS is strongly  $\sigma$ -finite.  $\prod_{i=1}^{N} (\mu_i) = \mu_1 \otimes \mu_2 = \mu_1 \otimes \mu_2$ . Finally, if UR: ×R<sup>2</sup>, ×R<sup>3</sup>, is a finite disj union of rectangles,  $\left(\mu_{i}\otimes\mu_{2}\right)\otimes\mu_{3}\left(\bigcup_{i=1}^{U}R_{i}^{*}\times R_{i}^{2}\times R_{i}^{3}\right)$  $= \sum_{i=1}^{N} (\mu_i \otimes \mu_2) \otimes \mu_3 (R_i^1 \times R_i^2 \times R_i^3)$ 

 $= \sum_{i=1}^{N} \mu_{i}(R_{i}^{i}) \mu_{2}(R_{i}^{2}) \mu_{3}(R_{i}^{3})$  $= \sum_{i=1}^{N} \mu_i \otimes (\mu_2 \otimes \mu_3) (R_i^1 \times R_i^2 \times R_i^3)$  $= \mu ( \otimes (\mu_2 \otimes \mu_3) ( \bigcup_{i=1}^{n} R_i^{i} \times R_i^{2} \times R_i^{3} ).$ 

Question 7 Question T All functions in this problem are piecewise cts, hence Borel measurable By Tonelli's Theorem 
$$\begin{split} S(f) d\lambda \otimes \lambda &= -\int (\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= \int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})(\chi^{2} + y^{2})^{-2} d\lambda \otimes \lambda \\ &= -\int S(\chi^{2} - y^{2})(\chi^{2} + y^{2})(\chi^{$$
For y > 0, the equivalence of Riemann and Lebesque integrals ensures  $\int (x^{2} - y^{2})(x^{2} + y^{2})^{-2} d\lambda(x) = \int (x^{2} - y^{2})(x^{2} + y^{2})^{-2} dx$   $\int (x^{2} - y^{2})(x^{2} + y^{2})^{-2} d\lambda(x) = \int (x^{2} - y^{2})(x^{2} + y^{2})^{-2} dx$ mathematica, Thus  $-\int \frac{1}{2y} dy = +\infty$ , so  $\int (f) - d\lambda \otimes \lambda = +\infty$ . (0,1) Likewise, S (x<sup>2</sup>-y<sup>2</sup>) (x<sup>2</sup>+y<sup>2</sup>)<sup>-2</sup>d202 E(12(K,y):x>y<sup>2</sup> 5(7+2202  $= \int \int [x^2 - y^2] (x^2 + y^2)^{-2} dx d\lambda(y)$ (0,1) (y,1) S (y-1)2 Zy(1+y2) dig monstore  $= \lim_{k \to 0} \int \frac{|q-1|^2}{2q(1+q^2)} dk_1$   $= \lim_{k \to 0} \int \frac{|q-1|^2}{2q(1+q^2)} dk_1$ Convergence theorem Equivalence Hieran ne = (y-1)= Zy(1+y2) dy = + 0 1im

Thus Sfdrer does not exist. On the other hand, for y [0,1], arguing as before,  $S(f(x,y))d\lambda(x) = S(x^{2}-y^{2})(x^{2}+y^{2})^{-2}dX = Zy(1+y^{2})$  $\frac{S(F(x,y)) - d\lambda(x) = \frac{1}{2y}}{\sum_{i=1}^{N} \frac{1}{i}} = \frac{1}{\sum_{i=1}^{N} \frac{1}{i}} \frac{1}{\sum_{i=1}^{N} \frac{1}{i}} = \frac{1}{\sum_{i=1}^{N} \frac{1}{i}} \frac{1}{i}} \frac{1}{\sum_{i=1}^{N} \frac{1}{i}} \frac{1}{i}} \frac{1}{\sum_{i=1}^{N} \frac{1}{i}} \frac{1$  $\frac{-1}{2y} \frac{-2y}{(1+y^2)} = -1$ Thus, Equived Riemann and Lebesgue J J f(x,y)d/(x)d/(y) = J = 1 [0,1] [0,1] J [0,1] J [1,y] dy = 4 J mathematica Finally, Holling Since f(x,y)=-f(y,x),  $S = f(x,y)d\lambda(y)d\lambda(x) = S = f(y,x)d\lambda(y)d\lambda(x) = \frac{1}{4}$  [0,1] = [0,1] = [0,1] = [0,1]

 $f \ge 0$  on Jote that Thus, all integrals ١ 1 fdx = SSf(x,y)dx(x)dx(y)= SSf(x,y)dx(y)dx(x) E